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1) % ARR

(BE1A1E)
W B SR SH4E SH5E
M| A% | A% m| A%
H 27,479, 989 9.3 27, 463, 404 9.3 27, 442, 856 9.3
b 15, 238, 670 52 15, 219, 022 52 15, 087, 296 51
=2 #h 16, 205, 761 55 16, 251, 930 55 16, 262, 702 55
btz A 25, 307 0.0 25, 307 0.0 25, 307 0.0
L N 134, 399, 656 456 134, 332, 876 456 134, 331, 246 456
w5
JR g 405, 734 0.1 405, 734 0.1 405, 549 0.1
ME M 12, 889, 445 4.4 12,987, 531 4.4 13,047, 768 A
z D b 88, 005, 438 29.9 87, 964, 196 29.9 88, 047, 276 29.9
it 294, 650, 000 100. 0 294, 650, 000 100. 0 294, 650, 000 100. 0
(B4 BB BERHE
2) [IEER
(%4 - A)
£ % =i (C) ok E RREE T R &
F 14 | && | e (mm) (cm) (m/s)
SER 224 7.8 31.8 -22.9 1,173.5 84 2.3
23 7.2 33.1 -23.0 1,078.0 93 2.2
24 7.2 31.4 -22.9 1,098. 0 101 2.2
25 7.2 30.2 -22.5 1,271.5 100 2.3
26 7.1 31.1 =-23.7 947.5 93 2.3
27 7.9 31.5 -18.3 1,131.5 73 2.2
28 7.2 30. 3 -20.4 1,190.0 66 2.2
29 6.9 32.6 -22.0 1, 086. 5 72 2.3
30 7.3 30. 6 -23.4 1,241. 5 80 2.3
SHITHE 7.6 33.1 -23.8 789.0 68 2.4
2 7.9 32.3 -19.8 909. 5 70 2.3
3 8.0 34.0 -23.0 1,117.5 85 2.5
4 7.8 30. 8 -22.0 1,064. b 154 2.4
5 8.8 33.3 -24. 8 1.067.5 73 2.6
<518 1.7 7.3 -24.8 39.0 66 1.9
2 5.5 10. 1 -19. 8 42.5 73 2.1
3 2.6 16. 9 -10. 4 49.0 56 2.8
4 7.5 18. 3 4.0 96.0 0 3.3
5 1.7 25.3 -0.2 41.0 1 3.3
6 16. 9 27.9 2.2 115.0 0 3.2
7 22.0 32.7 14. 5 75.5 0 2.6
8 24.9 33.3 18.1 133.0 0 2.9
9 19.6 29.2 6.2 214.5 0 2.2
10 11.3 24.5 -0.9 127.5 0 2.1
1 53 20.5 =7.7 98.5 8 2.6
12 -2.8 11.5 -17. 4 36.0 16 2.2
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SHM5EIAERA)
F £ m |)KD%H’|§T§_| F £ m_ & |)\D€€‘f§_| ¥ £ m A AORE
km A/km| knt A/kmi knt A/kmt
B B 7] 294650 238.9(%& iy 0175 6,1486||Em# 8 =3 T H| 0073 53288
i X 6.114 2131 BT 1 T B 01569 373b8|Em# 8 =4 T H| 0097 95052
N H 3.468 101|&EHB2TH 0.092 4565248 ®E5TH| 0093 6,258.1
& H 5.050 2321 BT 3 T B 0080 77250||Fm#8®E6T H| 0071 16,6620
e & 4538 54 9|(#r iy 0043 19302 #8=7TH| 0081 16,6049
+ 1 | 4592 37.7||& iy 0133 36842 #8vm1TH| 0153 45229
=l T 3.262 23| EHETT T H 0062 6,7258||FmA&8/m2T H| 0.082 3,2195
A [3] 5.750 1322 E BT 2 T B 0090 bH466.7|EE&# 83T H| 0.095 3,3684
M;EHE1TH 0.088 496595 B AT 3T B 0.0569 3966.1||Em#8Pm4TH| 0075 58267
M;EHE2TH 0124 545975 B BT 4 T B 0.060 44500 &8 Pm5T H| 0128 2,039.1
MAEHEI3ITH 0074 810815 B BET S T B 0072 44583||FE# 86T H| 0140 55714
M;EHET4TH 0096 461465 AETE6 T B 0.081 50000(FE#8m1TH| 0043 85814
MAEHES5TH 0.123 70163k BT 1 T H 0.054 37037||m#8m2T H| 0.090 53889
B E1TH 0.106 7,0094|k BT 2 T H 0.038 4263248 m3TH| 0108 54074
G 2T H 0068 74412k BT 3 T H 0048 b55833|EA#EFm4TH| 0153 45229
BiZH 3T H 0.067 40896|K BT 4 T H 0.065 26000|FE#8m5T H| 0.037 6,270.3
BiZ a4 T H 0.486 7593 R ET1 T B 0.089 6,606.7|Fm &8 41T H| 0089 52022
BiZHT 5T H 0.061 34426|>x mBET 2 T B 0.052 92692 A48 42T H| 0.102 4,696.1
BNiZ BT 6 T B 0076 40263|[>x BT 3 T B 0068 2161848 43T H| 0112 26607
HERR1THE 0.374 9920 mET 4 T H 0092 73152 &84T H| 0119 26807
HER2TH 0.061 5,311.5|% 5 2.810 94 3| A 85T H| 0116 5,706.9
HE#EBRITH 0.133  4,624.1|# | 159.404 01|48 6T H| 0102 62157
HER4THE 0.292 68.5|[#% x| 49.825 00|m#&#%447TH| 0101 70594
2441 TH 0.160 38563 & BT 1 T B 0.080 76125||lma®mEx1TH| 0120 1,7750
24 d2TH 0119 47731 &E BT 2T B 0.116 43448||m#»®m2E=x2TH| 0210 24524
24 4E3TH 0134 54552 &E BT 3 T B 0.116 1,7586||E/MFR 1T H| 0271 3,848.7
24 44TH 0213 30516l &E BT 4 T B 0.173 b56705|EMFER2T H| 0241 43278
EE&HRLITH 0089 64944 &E BT 5T B 0.090 5666.7|EHETTTHE| 0063 3873.0
EHE&HRL2TH 0.080 44250+ & BT 6T B 0.128 b5e6719|&#HmEr2T B| 0.067 34030
EHE&HRL3TH 0.087 8,160.9|= & iy 0178 4651.7|&#HEr3 T H| 0.037 44054
EHE&HRA4TH 0113 40088||= BT 1 T B 0125 19040||&#=Emr1 T H| 0057 54386
EHE&HRLS5TH 0.209 00|= BT 2 T H 0.105 3,104 8|E#MER2T B| 0063 52540
2E4m1TH 0312 33654||%= B 3 T B 0075 bH2133|EMERITH| 0085 54706
E4£m2TH 0113 6,9292||= #T 4 T B 0.120 417|SWER/RT4TE| 0067 35075
E4£m3TH 0129 75504|(wm BB 1T B 0.188 3, 202.1||&#AEB1TH| 0070 6,700.0
E4m4TH 0131 7,3435|(w 5 BT 3 T B 0462 37922 ABT2T H| 0.105 52095
E4£®m5TH 0110 33273 HT 4T B 0.110 2681 8||EMABT3ITH| 0.108 64722
A= 0.105 3,038.1|1#A PN BT 2.346 1211|EMABT4T E| 0095 52211
E4m/TH 0124 65242 KB 1T B 0.060 7,066.7(|SMmERT1TH| 0076 58421
MHEHRTTHE 0.078 9,0385|fa < BT 2 T B 0.0568 42931 ERT2T H| 0.064 58281
MHEHR2TH 0.056 82321 K BT 3 T B 0.102 5931 4|EWBET3T B| 0046 6,630.4
HEHRITH 0.046 6,5870|fa K BT 4 T B 0.109 35321|EMER4TH| 0055 65818
HEHR4TH 0.077 65974 KRBT 5T B 0.080 7,237.5||F =) ¥ 5.057 117.1
# BT 1 T B 0.030 4,733.3|dtaAKETTTH 0.173  4,000.0|Fm =) W 2.769 70.4
# BT 2 T B 0.081 7679.0dtaKRET2T B 0.226 2,778.8||% =) [ 4.025 34.0
FEH1TH 0.077 3,1558|dtAAKRET3T B 1.355 199~ =} W 5514 48.4
FEH2TH 0.095 50105(dtEARET4TH 0.121 66.1|%& x| 4525 21.7
FEH3ITHE 0.068 8514 7|t KBTS T B 0.086 3494k | 5.905 12.4
FEH4TH 0.049 8,2449|& 7N R 3.489 40
=x A iy 0098 64490|= B 1 T B 0.079 6,708.9
x B iy 0045 54222|=m B 2T B 0.056 5,500.0
= BT 0.105 68190|I= kB 3 T B 0.057 59474
¥ BT 1 T B 0.050 64200|= B 4 T B 0.056 46250
¥ HEr 2T B 0.116 50690k B 5 T B 0.036 6,333.3
¥ BT 3T B 0061 63279=mk B 6 T B 0.058 6,189.7
% 4 T H 0.064 625(FEA#E®RE1TH 0.084 3,369.0
= BT 0.045 42222/ A48 H2T B 0.078 6,730.8
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